B iEA gyt §

SR &N B ae/ER - T4 (347 8/8/2020)

p Eﬁ%ﬁ“ (B 7355%) FE/ R
10/8 | F = 11:00 — == 12:00 (rfmxry) | 27° - 5w ¥ (24, 2B, 2C, 2D)
(=) +=9:00 - 10:30 (+FpExE) 2021 # 2 B IRIE & 7T
-English (BC) 4= & & (A, D)
FE=11:00 - == 12:30 (2 pFxRg) 2021 & < G E A IL
-English (AD) 4= @z (B,C)
T2 1:30 - 2:30 (rgErE) Az By (34, 3B, 3C, 3D)
1178 + = 9:00 - 10:30 (s FEKE) 2021 # % BRI 5L
(=) -English (BC) 4= i@z (A, D)
2 =11:00 - = 12:30 (e FEEE) 2021 # % G 5L
-English (AD) 4= i & (B,C)
12/8 | +=9:00 - 10:30 (e FEFxg) 2021 & < G EFE B IL
(=) -English (BC) = i & (A, D)
2= 11:00 - 7= 12:30 (et FFEFEYE) 2021 & = BRI H 5L
-English (AD) f= i @ (B,C)
13/8| + = 9:00 - &= 12:00 RS S
()| +=9:00 - 10:30 (et FEKE) 2021 # < & RIE sz
-8~ g i ~ 4732 /Phys fr Bio
2= 11:00 - 7= 12:30 (e FEEE) 2021 & 2 BEIEH 5T
-3 1@ s s @ f s Chem ~ ARE o &AL
g2 45)
14/8 ) + = 11:00 - &= = 12:00 (2 FExg) | 29 - &Fud Fxd (24 2B 2C 2D)
(Z)] +=9:00 - 10:30 (e FPEFxE) 2021 & ~ @RI 5T
-2~ £ €M~ T~ 4 32/Phys fr Bio
+=11:00 - == 12:30 (2 EFxRg) 2021 & < G FEIp L
-3 s A~ @ g s Chem fr ARER
= 11:00 - 11:45 (et FFxs) 2021 & = i3I # 51
- EPF(2P)
b= 11:45 - 12:30 (e FEFKRE) 2021 & < GEE A 3L
e EpFg)
Tx1:30 - 2:30 (e FERE) A0z gF e g¥ (34 3B, 3C, 3D)
17/8 | +=9:00 - 10:30 (+FEFxE) 2021 & ~ B FEIp H FL
(=) -2 ¢~ £ €M~ T~ +32/Phys fr Bio

11:00 - == 12:30 (& 7 PFxRE)

2021 & ~ |G 7T
P g ~Chem-~ AE o 2 &

] L= s
o JE S

g5

7}&].




p#F PR (B A55%) HE/ B
18/8) = 9:00 - 10:30 Po- R4 O B )
(=) | (2 Google Meet 4+ 4 pFit7) - VEYRTE IRV AEGS
+=9:00 - 10:30 (gt P pEFxRE) 2021 & = G FEFE A 5T
-¢ ®WE (A B, O) v &% (D)
F=11:00 - &= 12:15 v RTA O B 3
(11 Google Meet .?J&J?E%séf?) -F1L g A
F=11:00 - 7= 12:30 (3 Fxs) 2021 & = G EIp K 5L
-#% (ABCI, ABC2, ABC3) 4= * W#F = (D)
19/8] = 9:00 - 9:45 R Y ]
(=2)| (12 Google Meet i F 7 pFigi7) - AT
+x29:00 - 10:30 (& FrPxrs) 2021 & = G H 5
-7 ®W#E (A B, O) - &% (D)
+=10:00 - 11:15 LR AP §1 D/ Tk 1|
(12 Google Meet Bt FREET) SRRERYT BMRTE LY L ERE
+F=11:30 - == 12:30 LR AR ST 9/ Tk 1|
(12 Google Meet # + F pFrig7) - B IR T
FE11:00 - = 12:30 (9 xs) 2021 & = G H 5
-#8 (ABCI1, ABC2, ABC3) 4= *® RFE = (D)
20/8 ) = 9:00 - 10:30 (% FFxE) 2021 # = G FEIE A 5T
(z) -7 ®/E (A B, O) v &% (D)
F=11:00 - 7= 12:30 (3 FxE) 2021 # = G FEFEH 5T
-#% (ABCI, ABC2, ABC3) 4= *® W#F = (D)
24/8 | +=9:00 - T = 4:00 (A% ) E AL
() - 1 +F29:003% 10:00
¢ - 0 =2 10:00 % 11:00
¢z 211002 2= 12:00
¢ = 12:0032 7= 1:00
7 X 2:003% 3:00
¢ x 300 3 4:00
+x29:00 - = 1:00 (A% ) PR A %
P8 0 +20:003 10:00
-2z @ +=10:00% 11:00
S oA b E11:00 225 12:00
-7 2 12:002 7= 1:00
28/8 | s+ 7:30 - 9:30 - REURTE
()| (2 Google Meet 4+ 5 pFigi7)




